no
%
o

DTk 28 FEH 2 EIT#RT 0 7 23 (
BB RIZ TR

@R AN EE BB ES
BB RIZ TR

@7 m v/ RERREE
Ty FEME (B -
CFHET B v 2 BHERHE

IR AR )

IR )

Gk T B )

8 A 27 BIZHHESDRMEZRE - RILUL\REE

=R

- BT ey ZHERS - BHE

7 A2 BIZRAE LI=HBRICOVWTRE
10 A 30 BIZEHHE= DB Z5HE
=R

- T vy 7 HEETE

11 A 12 BIZHHESDBE L EHE
=R

(QUIEsE: iy

(RKJE\Ef =)

(&8 1]

(&8} 2]

AN FEA R M B =
Rk 2 3SHE FEI3NPEES EFER
Wik 2348 H 24 H 16 HE~18
LT 3B EI3INE=E
FR&EE - WIRISE - BKEISE - BARISE
H EEATERE - RELEE - RS - MARELES - L TTEE
ik A
AFTBHAAELE - ITHELE - EEEE - HEE - ROPERE - KL .
W ERE - (o - ROREEE BB - JIPRELE - R - O
PR - HBEE
FRISE « AFESFHE
HER - BEEHR
R
7 anEsts UMRETEE)
BEXSEICTHEA
7 2REOEMICHOWT  UNMREEEE)
BEXSEICTHEA
- ut EaI o = = )

(&8 3-1]

(&8 3-2]

[& %} 3-3-1]

[& %} 3-3-2]

[& ¥} 3-3-3]



- FAERTAE 7 v 7 3R ONRERE) [&#} 3-3-4]
9 A 17 BIZEES LREOREZEHE
=SEEBOSMEZ 3000 AN SEMITEEFTT 5L LT, KR

- AR 7 1 v 7 HERE - G (Ve =) [&¥l3-3-5]
6 A 18 BICR#E L=-HHEXIC DL \THE

10 A 22 BIZHHESDBMELEE - (ILLDOHBEE

=>&R
AT = S (2 H =)
CEIE T w7 R (PR E)
AR T By o () [k} 3-3-6]
104158 - 11 A 12 HIZHHESOREZEHE
=>&R
@iMHERZAE= (k- OrEstss)  [ERF3-4]
BExsRIZTHA
GOmEEAR (BKJE\ - meter)  [Ekk 3-5]
BExsRIZTHA
OrTEFE(EAR (ORAY « AtfEEs)
@Ik - ks = FRHih S B LB S (e - =)
Q) &S T -E I SEN OIS - OHAEEE )
@it - HHREZAE= (P HY - 3 P
WEET#EEHEMEEZAR (3% - Rrets)  [EF3-6]
BEnsRIZTHH
OZFEHERA = (FLER - 3 T 2R )
OOHEERZ RS (BF I - &[] 2 5)

H45 O
OIEEFRED A LAY AT AMUIBGEEESIZ oW T (B HEEE) [&k}4]
BEHSRICTHA
QEEH & ODBHIE2ZHONT (11,729 - 30)

=S
10 BREEMASE R G 22l >V T O B e ) (&%} 5]

- BRSO ERIBLE LN EIBEEMARNEVOEBNEZEHET D,
 BRERRNEGULLTONEZBEMARERRE L7414 PHILTERAV L
8HE

- I EEXEE A - AR TE D & S5 LR EDRRE

SLUEDIRFRET HLTEE



H2E UBIZBITLHEEORBITHIZONT (FHYETSE)
OiE - heZBEaZEE [&k} 6]
=>ERE Y EKR
QmmEZ B s (&8 7]
=>ERE Y EKR
QREREE BB ~DF TV — =D JEIT H (&8} 8]
=>ERE Y EKR

9375 INRABGEEDOT T IANERIE NIRHIZOWT (AR EELE)

[kt 9]
SIREHE Y KB
AR BMREIAA~OE B OHREEIC T
O A AHSHR AT 2 ATTR AR S L A DY A S B [k 10]
&
O S RFE MRAERTEE R\ 3317 % 1 B4 2t Fi 2 v Hh 5 [kt 11)
&
O B AS a2 7 1 v 7 BHES [kt 12]
&
ORIEPEITZ X 0 i /AR 7 o+ — T A Bk [k 13]
&
O 2 [ EAIESIL T =7 | 5088 2011 ~O B [kt 14]
&
O SR 170 B> Dy e [k 15])
S ERRER

5. ZDih
OF20mHiRTZen7=T (9,3 4)
OFE 3 7THFEAEFS (10,/2)

A% DOTIE]
WARk 28 AEJEHS A R BRES - Rk 234E 10 A 26 H (k)
16 B~ N— BT HER 4 B




